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One mole of a substance contains Avogadro’s Number (6.02 x 10%) of molecules.

How many molecules are in the quantities below?
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GRAM FORMULA MASS Name

Determine the gram formula mass (the mass of one mole) of each compound below.
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MOLES AND MASS . Name.
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7 1. How many grams are there in 1.5 x 10% molecules of co,? 12OV + ZQe-®)=44 |
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5. How many atoms are there in 1.3 x 102 molecules of NO,?
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Determine the percentage composition of each of the compounds below.
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Solve the following problems.

3. How many grams of Ooxygen can be produced from the decomposition of 100. g
of KCIO,? 2A1S 4.0 (Loerk on Nt pagt
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4. How much iron can be recovered from 25.0 g of Fe,0,? [y > b
S. How much silver can be produced from 125 g of Ag,S? !C‘S.S 3‘“ @f%
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1. The emplrlccll formula of a compound is NO I’rs moleculcr mass Is 92 g/mol

Wha’r is Its molecular formula?
N0, = .ol +?_(lb 0= 40-O 19l

A?LQZO\ T laaa, = NOXL

2. 'The empirical formula of a compound is CH,. Its molecular mass is 70 g/mol.
What Is its molecular formula?

CH, = 1201 + 2(1007) = K.03w!
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3. A compound is found to be 40.0% carbon, 6.7% hydrogen and 53.5% oxygen.

iz moleculcr ass is 60. g/mol. What is its molecular formula? £ = CH. O
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4. A compound is 64.9% carbon, 13.6% hydrogen and 21.6% oxygen. Ifs molecular
mcs 74 g/ ol. Whatis its molecular formula? - EF - C4 His
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